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)spool schaum?.output
)set message test on
)set message auto off
)clear all

--S 1
aa:=integrate(1/(x"2-a"2),x)

--R Type: Union(Expression Integer,...)

--S 2
bb:=1/(2*a)*log((x-a)/(x+a))

--R Type: Expression Integer

--S 3
cc:=aa-bb

--R Type: Expression Integer



--S 4
divlog:=rule(log(a/b) == log(a) - log(b))

--R a

-k (4) 1log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 5 14:144 Schaums and Axiom agree
dd:=divlog cc

--R Type: Expression Integer



2 [1]:14.145 /m

xr2 — g2

x 1

(F)+=
)Jclear all

--S 6
aa:=integrate(x/(x72-a"2),x)

--R Type: Union(Expression Integer,...)

--S 7
bb:=1/2*log(x"2-a"2)

--R Type: Expression Integer

--S 8 14:145 Schaums and Axiom agree
cc:=aa-bb

--R Type: Expression Integer
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)Jclear all

--S 9
aa:=integrate(x”"2/(x"2-a"2),x)

--R Type: Union(Expression Integer,...)

--S 10
bb:=x+a/2*log((x-a)/(x+a))

--R Type: Expression Integer

--S 11
cc:=aa-bb

--R Type: Expression Integer
--5 12
divlog:=rule(log(a/b) == log(a) - log(b))

--R a
-k (4) 1log(-) == - log(b) + log(a)



--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S5 13 14:146 Schaums and Axiom agree
dd:=divlog cc

--R Type: Expression Integer
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4 Q114147 [

xr2 — g2

()=
)Jclear all

--S 14
aa:=integrate(x~3/(x"2-a"2),x)

--R Type: Union(Expression Integer,...)

--5 15
bb:=x"2/2+a"2/2x1log(x"2-a"~2)

--R Type: Expression Integer

--S 16 14:147 Schaums and Axiom agree
cc:=aa-bb

--R Type: Expression Integer



5 [1]:14.148 /:c(a:;lfa?)

() +=
)Jclear all

--S 17

aa:=integrate(1/(x*(x"2-a"2)),x)

--R 2 2

--R Type: Union(Expression Integer,...)

—-s 18
bb:=1/(2*a"2)*log ((x"2-2"2)/x"2)

--R Type: Expression Integer

--S 19
cc:=aa-bb

--R 2 2 X - a



--R Type: Expression Integer
--E

--S 20
divlog:=rule(log(a/b) == log(a) - log(b))

--R a

--R (4) log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 21
dd:=divlog cc

--R 2

--R Type: Expression Integer

--S 22

logpow:=rule(log(a"n) == n*log(a))

--R

--R n

--R  (6) log(a ) == n log(a)

--R Type: RewriteRule(Integer,Integer,Expression Integer)
--E

--S 23 14:148 Schaums and Axiom agree

ee:=logpow dd

--R Type: Expression Integer
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)Jclear all

--S 24
aa:=integrate(1/(x"2*x(x"2-a"2)),x)

--R Type: Union(Expression Integer,...)

--S 25
bb:=1/(a"2*x)+1/(2*xa"3) *log((x-a)/(x+a))

--R Type: Expression Integer

--R Type: Expression Integer

--S 27
divlog:=rule(log(a/b) == log(a) - log(b))
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--R a

-k (4) 1log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--5 28 14:149 Schaums and Axiom agree
dd:=divlog cc

--R Type: Expression Integer
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)Jclear all

--S 29
aa:=integrate(1/(x"3*(x"2-a"2)),x)

--R 2 2 2 2 2
--R x log(x - a ) - 2x log(x) + a

--R 4 2
--R 2a x
--R Type: Union(Expression Integer,...)

--5 30
bb:=1/(2%a"2*x"2)-1/(2*xa"4) *xlog(x"2/(x"2-a"2))

--R Type: Expression Integer

--S 31
divlog:=rule(log(a/b) == log(a) - log(b))

--R a

--R (3) log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 32
tl:=divlog bb
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--R 2 2 2 2 2 2
--R - x log(x ) + xlog(x -a) +a

--R 4 2
--R 2a x
--R Type: Expression Integer

--S 33

logpow:=rule(log(a"n) == nxlog(a))

--R

--R n

--R (5) 1log(a ) == n log(a)

--R Type: RewriteRule(Integer,Integer,Expression Integer)
--E

--S 34
t2:=logpow tl

--R 2 2 2 2 2
--R x log(x - a ) - 2x log(x) + a

--R 4 2
--R 2a x
--R Type: Expression Integer

--3 35 14:150 Schaums and Axiom agree
cc:=aa-t2

--R Type: Expression Integer
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)Jclear all

--S 36
aa:=integrate(1/((x"2-a"2)"2),x)

--R 2 2 2 2

--R (x - adlog(x +a) + (-x + a)dlogx - a) - 2ax

--R Type: Union(Expression Integer,...)

--S 37
bb:=-x/(2*%a"2*(x"2-a"2))-1/(4*a"3) *log((x-a)/(x+a))

--R 2 2 X - a

--R Type: Expression Integer

--R Type: Expression Integer
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divlog:=rule(log(a/b) == log(a) - log(b))
--R a
-k (4) 1log(-) == - log(b) + log(a)

--R b
--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 40 14:151 Schaums and Axiom agree
dd:=divlog cc

--R Type: Expression Integer
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9 [1]:14.152 /(xx_dw

(F)+=
)Jclear all

--S 41
aa:=integrate(x/((x"2-a"2)"2),x)

--R Type: Union(Expression Integer,...)

--S 42
bb:=-1/(2%(x"2-a"2))

--R Type: Fraction Polynomial Integer

--S 43 14:152 Schaums and Axiom agree
cc:=aa-bb

--R Type: Expression Integer
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10 [1):14.153 [

&/" x? B —x +»;Lln T —a
(x2 —a2)?  2(x2—a2) 4a x+a

()+=

)Jclear all

--S 44
aa:=integrate(x"2/((x"2-a"2)"2),x)

--R 2 2 2 2
--R (-x + adlog(x +a) + (x - adlog(x-a) -2ax

--R Type: Union(Expression Integer,...)

--3 45
bb:=-x/(2*(x"2-a"2))+1/(4*a) *log((x-a) / (x+a))

--R 2 2 X - a

--R Type: Expression Integer

--R Type: Expression Integer

--S 47
divlog:=rule(log(a/b) == log(a) - log(b))
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--R a

-k (4) 1log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 48 14:153 Schaums and Axiom agree
dd:=divlog cc

--R Type: Expression Integer

20



r3dx
11 [1]:14.154 /M
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()=
)Jclear all

--5 49

aa:=integrate(x~3/((x"2-a"2)"2),x)

--R 2 2 2 2 2

--R Type: Union(Expression Integer,...)
--S 50
bb:=-a"2/(2%(x"2-a"2))+1/2*log(x"2-a"2)

--R 2 2 2 2 2

--R Type: Expression Integer

--S 51 14:154 Schaums and Axiom agree
cc:=aa-bb

--R Type: Expression Integer
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]/ 1 —1 n 1 ! z2
= —In|——
x(z? —a?)?  2ad?(2x? —a?)  2a* x? — a?
(F)+=
)clear all
--S b2

aa:=integrate(1/(x*(x"2-a"2)"2),x)

--R 2 2 2 2 2 2 2
--R (-x +adlog(x -a)+ (2x - 2a)log(x) - a

--R Type: Union(Expression Integer,...)

--3 53
bb:=-1/(2*a"2x(x"2-a"2))+1/(2xa"4) *log(x~2/(x"2-a"2))

--R Type: Expression Integer

--S 54
cc:=aa-bb

--R 2 2 X



--R Type: Expression Integer
--E

--S 55
divlog:=rule(log(a/b) == log(a) - log(b))

--R a

--R (4) log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 56
dd:=divlog cc

--R 2

--R Type: Expression Integer

--S 57

logpow:=rule(log(a"n) == n*log(a))

--R

--R n

--R  (6) log(a ) == n log(a)

--R Type: RewriteRule(Integer,Integer,Expression Integer)
--E

--S 58 14:155 Schaums and Axiom agree

ee:=logpow dd

--R Type: Expression Integer
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t/’ 1 1 x 3 (=
e L A P (ot
x2(x? — a?)? a*zx  2a*(z? —a?) 4dd x+a
() +=

)Jclear all

--S 59
aa:=integrate(1/(x"2*(x"2-a"2)"2),x)

--R 3 2 3 2 2 3
--R (3x - 3a x)log(x + a) + (- 3x + 3a x)log(x - a) - 6a x + 4a

--R 53 7

--R 4a x - 4ax
--R Type: Union(Expression Integer,...)

--S 60
bb:=-1/(a"4*x)-x/(2*a"4*(x"2-a"2)) -3/ (4*a~5)*xlog((x-a)/(x+a))

--R 3 2 X - a 2 3
--R (- 3x + 3a x)log(----- ) - 6a x + 4a

--R Type: Expression Integer

--R Type: Expression Integer

--S 62
divlog:=rule(log(a/b) == log(a) - log(b))
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--R a

-k (4) 1log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 63 14:156 Schaums and Axiom agree
dd:=divlog cc

--R Type: Expression Integer
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(F)+=

)Jclear all

--S 64

aa:=integrate(1/(x"3*(x"2-a"2)"2),x)

--R 4 2 2 2 2 4 2 2 2 2 4
--R (- 2x +2ax)log(x -a) + (4x - 4a x )log(x) - 2ax + a
--R 6 4 8 2

--R 2a x - 2ax
--R Type: Union(Expression Integer,...)

--5 65
bb:=-1/(2*%a"4*x"2)-1/(2*xa"4*(x"2-a"2))+1/a"6*log(x"2/(x"2-a"2))

--R 4 22 X 22 4
--R (2x - 2a x )log(———-—-—- ) —2ax +a

--R Type: Expression Integer

--S 66
cc:=aa-bb

--R 2 2 X
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--R Type: Expression Integer
--E

--S 67
divlog:=rule(log(a/b) == log(a) - log(b))

--R a

--R (4) log(-) == - log(b) + log(a)

--R b

--R Type: RewriteRule(Integer,Integer,Expression Integer)

--S 68
dd:=divlog cc

--R 2

--R Type: Expression Integer

--S 69

logpow:=rule(log(a"n) == n*log(a))

--R

--R n

--R  (6) log(a ) == n log(a)

--R Type: RewriteRule(Integer,Integer,Expression Integer)
--E

--3 70 14:157 Schaums and Axiom agree

ee:=logpow dd

--R Type: Expression Integer
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15 [1]:14.158 /(dw

1 —x 2n—3 1
/ (x2 —a2)r  2(n — 1)a?(22? — a?)n—1 B (2n — 2)a? / (22 — a?)n—1

(F)+=
)Jclear all

--S 71 14:158 Axiom cannot do this integral
aa:=integrate(1/((x"2-a"2)"n),x)

-1 (-a + %L )
--R Type: Union(Expression Integer,...)
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16 [1]:14.159 /(xd:”
aj J—

(F)+=
)Jclear all

--S 72
aa:=integrate(x/((x"2-a"2) "n),x)

--R n log(x - a)

--R Type: Union(Expression Integer,...)

--S 73
bb:=-1/(2*%(n-1)*(x"2-a"2) " (n-1))

--R Type: Expression Integer

--R 2 2n -1 nlog(x - a)
--R 2n - 20 -a) %he
--R Type: Expression Integer
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explog:=rule(%e” (n*¥log(x)) == x"n)

--R

--R n log(x) n

--R  (4) Ve == x

--R Type: RewriteRule(Integer,Integer,Expression Integer)
--E

--S 76
dd:=explog cc

--R (2n -2)(x -a) x -a)
--R Type: Expression Integer

--S 77 14:159 Schaums and Axiom agree
ee:=complexNormalize dd

--R Type: Expression Integer

dx

‘/' 1 B -1 "J;J/ 1
w22 —a®)"  2(n— a2 —a®)* 1 a® ) z(a® —a®)n T

()=
)Jclear all

--S 78 14:160 Axiom cannot compute this integral
aa:=integrate(1/(x*(x"2-a"2) "n) ,x)

--I WL (- a + %L)
--R Type: Union(Expression Integer,...)
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18 [1]:14.161 /(xdw
aj J—

()=
)Jclear all

--S 79 14:161 Axiom cannot compute this integral
aa:=integrate(x"m/((x"2-a"2)"n),x)

--R Type: Union(Expression Integer,...)

19 [1):14.162 [ (dx
"M xe —

/ 1 1 / 1 1 / 1
xm(x2 _ a2)n T a2 xmfz(xz _ a2)n a2 l_m(x2 _ a2)n71

(F)+=
)Jclear all

--S 80 14:162 Axiom cannot compute this integral
aa:=integrate(1/(x"m*(x~2-a"2)"n),x)

--I (-a + %L ) %L
--R Type: Union(Expression Integer,...)

) spool
)1lisp (bye)
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